(177)

W

(Fp2953A208)

(D [RIRR (3) ARG AR5 (9B )

(BRI A - BEERTHRR) EE#: TP 0.8m
X Iz : Eh (o) |ETHR : T.P. 0.32 m
E : 10.6 °C (omF) | - -3.39m () 40 m3/s) x
BEEt e arm | XEEETHYEBECT,

XEREMN KT 101 . BFREALZWLA -]

RENIS0. 2kmith gm KALETFE RARET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

= 20.5
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
gl 0B§40%>  T.P. 0.53m
2385004  T.P. 0.25m tE mg/| 11| 15,000
B4R
Fi# 3104 T.P. -0.48m (if“jg%” g mg/| 11| 18,000
1685104 T.P.  -0.83m & mg/| 11| 18,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C .2l 7l 1. 10.9] 10.7] 107  11.0 105
EEKE | c| - — 1. 10.8] 104 112 110 -

b H — 7.5 7.8 7. 7.5 7.7 8.0 — —
%BDO |mg/l 10. 1 1.8 11, 10.6] 100  10.2 8.8  10.4
EEDO |mg/I| — - 1. 0.4 10.0 7.2 7.2 —

cop |mg/l 2.3 1.4 — — 2.6| - — —~

BE | E 3.4 4.0 4 4 i -
BRITEE | us/on 110 18| — — — —~ — -
RREDRE ng/||  — — 6 10 9,340 17,040| 11,080
BEREARE Ing/|| — - 9 7| 16,320 17,300 —
w=Ex  |mg/| 0. 81 108 — 0.82| 104 1.26] -— —~
@y |mg/l 0.13) o012 ~— 0.06/ 0.08 o0.05 — —~
yaRT Lalug/l 2.5 1.9 0. 1.3 7.7 29.7 1.7 5.1
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(2/7)

G =

(FEp2953A218)

() |JRRR (3) KA 4K 35 (9B)

(BRI - EEEFERN) EEGR T.P. 0.87 m
X & [55] (9K [ETFH : T.P. 0.40 m
[ om 9.2°C (o) |8 fi: -3.17Tm (8 60 m3/s) x
B 0 mm &E) XERETHYBRIETT,

XEREMN KT 101 . BFREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

= 21.5
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
gl 1085009  T.P. 0.38m
- T.P. - tE mg/| 11| 9,500
B4R
Fi# 4004 T.P.  -0.37m (if“jg%” g mg/| 11| 18,000
1685504 T.P.  -0.58m & mg/| 11| 18,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C 1.9 1270 119 15| 11.2]  11.3]  11.6]  10.8
EEKE | c| - — 1200 11.6] 106 11.2] 1.6 —

b H — 7.4 7.7 7.4 7.5 7.7 7.9 - —
%BDO |mg/l 9.2 1.3 10.5| 10.5|  10.2 9.4/ 10.2|  10.4
EEDO |mg/I| — - 10.6|  10.5 9.8 7.3 8.3 -

cop |mg/l 2.3 1.3 - — 2.6| — — —~

BE | E 4.4 4.4 4 4 3 T -
BRITEE | us/on 117 1220 — — — —~ — -
RREDRE ng/||  — — 7 6 10 7,680 11,900| 12,160
BEREARE Ing/|| — — 6 9 7| 15880 14,200 —
w=Ex  |mg/| 0.89) 1.02| ~— 0.83]  1.01 1.13] - —~
@y |mg/l 0.10 o.10 — 0.06/ o0.08 o0.07 -— —~
yaRT Lalug/l 3.7 2.3 1.1 3.2 155 12.0 8.2 5.6
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(3/7)

W

(ER29F3/228)

() KRR (3) KA 4K 35 (9B)

(B R - EEHERERN) EER: T.P. 0.87 m
X & : Bh (oB) [IET®: T.P. -0.05 m
[ om : 9.6 °C (o) |8 - -2.81m (8 100 m3/s)
. 12 mm gy | ERETHYEMETT,

XEREMN KT 101 . BFREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

= 22.5
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
gl 0B§40%  T.P. 0.27m
1185005 T.P. 0.53m tE mg/| 1| 7,100
B4R
Fi# 58204 T.P.  -0.01m (iﬁjﬂlsﬁ#)%ﬁ g mg/| 11| 9,200
188540%% T.P.  -0.48m & mg/| 12| 17,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
xBKE | c | xA 10. 1 10.4] 109 10.8] 10.7]  10.0[  10.7
EEKE | c| - — 10.5|  11.0]  10.6]  11.1 10.3] -

b H — | %A 7.4 7.3 7.5 7.5 7.8 — —~
£BDO |mg/l| KA 9. 1 9.7 10.7 51 10.1 10.3 8.9
EEDO |mg/I| — - 9.6/  10.2 9.5 7.8 8.3 -

COD (mg/l| XA 2.7 - — 2.6 — — —

BE | E| XA 10.8 1 4 3 5| — -
BRITEE s/ KA 109 - - - — - -
RREDRE ng/||  — — 6 6 11| 5700 6,780| 15,400
BEREARE Ing/|| — — 5 8 8| 16,000 13420 —
w=x |ng/l| XA R 0.94| % 1.08] - -
wyy |mg/l| & 0.12| — 0.10| %I 0.06] — -
vanz nalue/l| R 4.8 5.0 2.6 3.5 3.4 1.7 5.6
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(4.7)

W

(Fp2953A238)

() |JRRR (3) KA 4K 35 (9B)

(BRI - EEEFERN) EEGR T.P. 0.86 m
X & £Y (9F) [T : T.P. -0.23 m
[ om 6.9 °C (o) |8 - -3.07m (9 70 m3/s)
B —mm &E) XERETHYBRIETT,

XEREMN KT 101 . BFREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

A # 23.5
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
538 185405 T.P. 0. 14m
138504  T.P. 0. 14m tRE mg/| 11| 8,600
B4R
Fi# 58504 T.P.  -0.15m (tﬁjﬂt;)m g mg/| 10{ 12,000
2085505 T.P.  -0.64m TE mg/| 11| 17,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C 9.6 & 10. 1 10.6|  10.8]  10.6]  10.0 9.4
EEKE | c| - — 10. 1 10.6| 10.7]  10.8] 10.7] —

b H — 7.4 xA 7.3 7.3 7.5 7.8 — —~
%BDO |mg/l 9.7 & 0.5 10.0 6 9.4 9.9  10.9
EEDO |mg/I| — - 10. 6 9.8 9.6 7.2 6.3 —

coD |mg/l 3.0 XAl - — 2.5 — — —

BE | E 3.6 & 5 8 3 < -
BRITEE | us/on 04| &l - — - — - -
RREDRE ng/||  — — 5 5 10 7,180 8,380| 5,920
BEREARE Ing/|| — — 5 6 6| 16,780| 17,540 —
wER  |mg/| 0.96| & — 1.04] & 1.15| - -
@y |mg/l 0.09| % — 0.09| & 0.07] - -
yanznalug/l 4.2 xR 2.4 7.2 2.6 2.8 3.0 8.0
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(6.77)

W

(Fp2953A248)

() |JRRR (3) KA 4K 35 (9B)

(BRI - EEEFERN) EEGR T.P. 0.89 m
X & : Bh (9F) [T : T.P. -0.41 m
[ om 9.1°C (o) |8 - 3.17Tm (8 60 m3/s) x
B —mm &E) XERETHYBRIETT,

XEREMNM KT 101 . BREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

= 24.5
# UEFRKLED AOE | EAE| e |EDRIRERAZE
gl 385404 T.P. 0. 36m
1485405 T.P. 0. 26m tRE mg/| 10| 11,000
B4R
Fi# 98004 T.P.  -0.23m (isjﬂtg)w g mg/| 10{ 15,000
2185305 T.P.  -0.80m & mg/| 10{ 18,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIAE | FEAE |BZEAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C 10.2| 109 100 102 11.2] 10.7]  10.4 9.8
EEKE | c| - — 10. 1 10.2] 111 10.9] 103 -

b H — 7.4 7.5 7.3 7.3 7.5 7.8 - —
%BDO |mg/l 9.8/ 11.0f 10,0 10.5 9.5 9.3 9.8  10.9
EEDO |mg/I| — - 10.0  10.3 9.4 7.1 8.5 —

cop |mg/l 2.5 19 - — 2.6| — — —~

BE | E 3.8 5.8 4 6 5 4 - -
BRITEE | us/on 109 121 — —~ — —~ — -
RREDRE ng/||  — — 6 6 o| 7,840| 8880 6,240
BEREARE Ing/|| — — 5 5 6| 16,620 11,540 —
w=Ex  |mg/| 0.76] 1.22| — 0.87] 109 117 - —~
@y |mg/l 0.04 008 ~— 0.071 0.09] o0.07 -— —~
yaRT Lalug/l 3.2 2.8 1.4 5.0 4.3 2.0 1.9 4.9
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(6.77)

W

(Fp2953A258)

() KRR (3) KA 4K 35 (9B)

(B R - EEHERERN) EER: T.P. 0.97 m
X & £Y (oB) [IET®: T.P. -0.38 m
[ om : 6.1°C (o) |8 fi: -3.25m (8 55 m3/s) x
BEHEX —mm &E) XORMIETH Y MMETT

XEREAImmEKTH 10 .

BRAENEA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

= 25.5
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
gl 48500  T.P. 0.51m
1685005  T.P. 0. 27m tRE mg/| 10| 8,500
B4R
Fi# 108610 T.P.  -0.49m (if“jg%” g mg/| 10{ 16,000
2285305 T.P.  -1.07m & mg/| 10{ 17,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C 9.7  10.8] 10.2]  10.1 10.7] 104 9.7 9.3
EEKE | c| - — 10.3]  10.1 1.3 10.8) 101 -
b H — 7.4 7.6 7.4 7.4 7.4 7.9 - —
%BDO |mg/l 9.8  11.1 10.4] 107 9.2 9.6 9.5  10.8
EEDO |mg/I| — - 0.4 10.6 9.1 7.6 8.0 -
cop |mg/l 1.7 1.6 — —~ 3 —~ — -
BE | E 3.0 5.4 3 4 6 5| — -
BRITEE | us/on 131 126 — —~ — —~ — -
RREDRE ng/||  — — 6 6 o| 7,840 9,540 5,840
BEREARE Ing/|| — — 6 6 5| 15420 12,880 —
w=Ex  |mg/| .70 1.22] — 0.82| 116 1.200 ~— —~
@y |mg/l 0.08) 008 ~— 0.05] 0.09 o0.07 -— —~
yaRT Lalug/l 2.9 2.3 1.1 1.4 6.7  30.2 1.7 4.4
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(7.7)

G =

(Fp2953A268)

() |JRRR (3) KA 4K 35 (9B)

(BRI - EEEFERN) EEGR T.P. 1.08 m
X & [55] (9F) [T : T.P. -0.19 m
[ om 1.8°C (o) |8 fi: -3.29m (8 50 m3/s) x
B —mm &E) XERETHYBRIETT,

XEREMNM KT 101 . BREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

= 26.5
# UEFRKLED AOE | EAE| e |EDRZRIERRZE
gl 5E§204>  T.P. 0. 63m
1685105 T.P. 0. 68m tRE mg/| 9| 9,800
B4R
Fi# 10854055 T.P.  -0.68m (if“jg%” g mg/| 9| 16,000
2385205 T.P.  -1.0lm & mg/| 9| 17,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C 1.2| 1.5/ 10.6] 10.5|  10.4]  10.6]  10.4 9.7
EEKE | c| - — 10.7] 105 102 107  10.3] —

b H — 7.4 7.5 7.4 7.4 7.3 7.8 - —
%BDO |mg/l 10. 1 1.5 103 107 8.9 9.4 9.8 1.1
EEDO |mg/I| — - 10.3|  10.5 8.9 8. 1 8.5 —

cop |mg/l 2.6 1.6 — — 3.0 - — —~

BE | E 3.2 5.4 3 4 4 4 - -
BRITEE | us/on 113 n| - — — —~ — -
RREDRE ng/||  — — 6 6 8| 7,140 8,680 3,960
BEREARE Ing/|| — — 6 7 5| 14,280 10,500 —
w=Ex  |mg/| 0.91 Lot — 0.83 112 111 - —~
@y |mg/l 0.07 009 — 0.071 o0.08 o0.06 — —~
yaRT Lalug/l 2.8 2.0 1.1 2.5 7.4 4.9 3.8 11.2
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




